T-1

ITEMIZED PROPOSAL FOR CONTRACT NO. D3POC0239

North Carolina Department of Transportation PURCHASE ORDER CONTRACT BID FORM

WBS Number: 3RE.107115, 3RE.207115 & 3RE.207125 Long-Arm Mowing along Primary & Secondary Paved Routes and Secondary Unpaved Routes in Pender County

ITEM	DESC	SECT	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0000100000-N	800	MOBILIZATION	1	LS	10,000.00	10,000.00
2	6132000000-N	SP	GPS OUTFITTING FEE	3	EA	1,000.00	3,000.00
3	6132000000-N	SP	GPS SUBSCRIPTION FEE	3	EA	1,000.00	3,000.00
4	6136000000-E	SP	LONG-ARM MOWING, PRIMARY ROUTES	142.97	SMI	219.00	31,310.43
5	6136000000-E	SP	LONG-ARM MOWING, SECONDARY ROUTES, (PAVED)	368.67	SMI	215.00	79,264.05
6	6136000000-E	SP	LONG-ARM MOWING, SECONDARY ROUTES, (UNPAVED)	5	SMI	215.00	1,075.00

TOTAL BID FOR PROJECT: \$127,649.48

CONTRACTOR DGC Company LLC		
ADDRESS 18244 great smoky moutain express v	vaynesville nc 28786	
Federal Identification Number 99-3194022		
Contractor's License Number		
Authorized Agent noah Saunier Signature Mul Saunier Witness joseph Ashley	Title Owner Date owner 7-11-25 Title officer	CORPORATE SEAL
Signature Jee Ashley	Date_7-11-25	

Point of Contact for Post-Bid Inquires (e.g., Letters of Intent, Insurance, Bonds, and Contract Execution)
Name_Joseph Ashley
Email_jashley@dangradyco.com
Phone 828-506-0112
THIS SECTION TO BE COMPLETED BY NORTH CAROLINA DEPARTMENT OF TRANSPORTATION This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications for Roads and Structures 2024. Reviewed by NCDOT Date 17 25
Accepted by NCDOT SUN MULES Date 7/17/2025

ITEMIZED PROPOSAL FOR CONTRACT NO. D3POC0239

North Carolina Department of Transportation PURCHASE ORDER CONTRACT BID FORM

WBS Number: 3RE.107115, 3RE.207115 & 3RE.207125
Long-Arm Mowing along Primary & Secondary Paved Routes and Secondary Unpaved
Routes in Pender County

ITEM	DESC	SECT	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID	1
1	0000100000-N	800	MOBILIZATION	1	LS	1000.00	ww.w	-
2	6132000000-N	SP	GPS OUTFITTING FEE	3	EA	2041.58	6124.74	1
3	6132000000-N	SP	GPS SUBSCRIPTION FEE	3	EA	100.00	325.00	P
4	6136000000-E	SP	LONG-ARM MOWING, PRIMARY ROUTES	142.97	SMI	208.00	3974S.66	1
5	6136000000-E	SP	LONG-ARM MOWING, SECONDARY ROUTES, (PAVED)	368.67	SMI	278.00	102490.26	-
6	6136000000-E	SP	LONG-ARM MOWING, SECONDARY ROUTES, (UNPAVED)	5	SMI	208.00	1390.00	V

TOTAL BID FOR PROJECT: ___

CONTRACTOR LAS Feed FAC ADDRESS 2847 Nody Hade Nd Ederbar, NC 2093. Federal Identification Number 84-3868132	
Authorized Agent Bry Carby Title We fident Signature Date Cold's Witness Title Slevetny Date Date Date Date Date	CORPORATE SEAL

	Contact for Post-Bid Inquires (e.g., Letters of Intent, Insurand Contract Execution)	ince,
Name	Sandra layla	
Email_	Slayderfrip a yuhos con	
Phone _	252-333-0378	
	S SECTION TO BE COMPLETED BY NORTH CAROLII DEPARTMENT OF TRANSPORTATION	
This bid h	has been reviewed in accordance with Article 103-1 of the Standard Specification for Rogds and Structures 2024.	cations
Reviewed by NCDOT	Bal Le pare 7/17/	25
Accepted by NCDOT	Date 1/	17/2025

ITEMIZED PROPOSAL FOR CONTRACT NO. D3POC0239

North Carolina Department of Transportation PURCHASE ORDER CONTRACT BID FORM

WBS Number: 3RE.107115, 3RE.207115 & 3RE.207125 Long-Arm Mowing along Primary & Secondary Paved Routes and Secondary Unpaved Routes in Pender County

ITEM	DESC	SECT	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID)
1	0000100000-N	800	MOBILIZATION	1	LS	\$1000.00	\$1000.00	
2	6132000000-N	SP	GPS OUTFITTING FEE	3	EA	\$300.00	\$900.00	~
3	6132000000-N	SP	GPS SUBSCRIPTION FEE	3	EA	\$300.00	\$900.00	,
4	6136000000-E	SP	LONG-ARM MOWING, PRIMARY ROUTES	142.97	SMI	\$218.00	\$31,167.46	/
5	6136000000-Е	SP	LONG-ARM MOWING, SECONDARY ROUTES, (PAVED)	368.67	SMI	\$207.00	\$76,314.90	-
6	6136000000-Е	SP	LONG-ARM MOWING, SECONDARY ROUTES, (UNPAVED)	5	SMI	\$210.00	\$1,050.00	-

TOTAL BID FOR PROJECT: \$111,332.36 ✓

	A STATE OF THE PARTY OF THE PAR	
CONTRACTOR PLCL Contracting LLC		
ADDRESS P.O. Box 282 Ayden, NC 28513		
Federal Identification Number 83-3822763		
Contractor's License Number N/A		Contraction
M. i. B.		CORPORATE
Authorized Agent Maria Rogerson	Title_Manager	SBAL North Caroline
Signature Wur Wigush Witness Sherri Taylor	Date	Caroline
8 7		" " " " " " " " " " " " " " " " " " "
Signature O	Date 7-14-2025	

4 1 100

Point of Contact for Post-Bid Inquires (e.g., Letters of Intent, Insurance,

Bonds, and Contract Execution)
Name Maria Rogerson
Email plclcontractingllc@gmail.com
Phone 252-746-1030
THIS SECTION TO BE COMPLETED BY NORTH CAROLINA DEPARTMENT OF TRANSPORTATION
This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications
Reviewed by NCDOT Brown Date 7/17/25
Accepted by NCDOT SAL WE Date 7/17/2025 Date 7/17/2025

ITEMIZED PROPOSAL FOR CONTRACT NO. D3POC0239

North Carolina Department of Transportation PURCHASE ORDER CONTRACT BID FORM

WBS Number: 3RE.107115, 3RE.207115 & 3RE.207125
Long-Arm Mowing along Primary & Secondary Paved Routes and Secondary Unpaved
Routes in Pender County

ITEM	DESC	SECT	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0000100000-N	800	MOBILIZATION	1	LS	\$500°	\$500° 1
2	6132000000-N	SP	GPS OUTFITTING FEE	3	EA	\$ 501,00	1,500,00
3	6132000000-N	SP	GPS SUBSCRIPTION FEE	3	EA	\$ 500,00	\$ 500.00
4	6136000000-Е	SP	LONG-ARM MOWING, PRIMARY ROUTES	142.97	SMI	#19500	\$7,879,15
5	6136000000-Е	SP	LONG-ARM MOWING, SECONDARY ROUTES, (PAVED)	368.67	SMI	\$ 190°	\$70,047,30
6	6136000000-Е	SP	LONG-ARM MOWING, SECONDARY ROUTES, (UNPAVED)	5	SMI	\$ 190,00	# 950° "

TOTAL BID FOR PROJECT:	\$102,374.45	
CONTRACTOR JAY & SERVICES L ADDRESS 1869 Neugent De Ver Federal Identification Number 33-13745	LC Nersville NC 27284 NGO	4
Contractor's License Number		
Authorized Agent LENEE MUNN Signature FONUL M Witness TONGA Belle	Title OWNER Date 7-14 25 Title Witness	CORPORATE SEAL
Signature Journ Belle	Date 7/10/25	

Point of Contact for Post-Bid Inquires (e.g., Letters of Intent, Insurance,
Bonds, and Contract Execution)
Name CONCE MOUTH
Name COVE /VICION
Email JAY CSCVICES LLC COMOIL CON
Email Style Style Style Cov.
3212-201 1228
Phone 330 301 (0509)
•
THIS SECTION TO BE COMPLETED BY NORTH CAROLINA
THIS SECTION TO BE COMPLETED BY NORTH CAROLINA DEPARTMENT OF TRANSPORTATION
DEPARTMENT OF TRANSPORTATION
DEPARTMENT OF TRANSPORTATION This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications
DEPARTMENT OF TRANSPORTATION This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications for Roads and Structures 2024.
DEPARTMENT OF TRANSPORTATION This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications for Roads and Structures 2024.
DEPARTMENT OF TRANSPORTATION This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications for Roads and Structures 2024. Reviewed by NCDOT But Date 17 21
DEPARTMENT OF TRANSPORTATION This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications for Roads and Structures 2024. Reviewed by NCDOT But Date 17 21
DEPARTMENT OF TRANSPORTATION This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications for Roads and Structures 2024. Reviewed by NCDOT But Date 17 21
DEPARTMENT OF TRANSPORTATION This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications for Roads and Structures 2024. Reviewed by NCDOT But Date 17 21
DEPARTMENT OF TRANSPORTATION This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications for Roads and Structures 2024. Reviewed by NCDOT Date 17/25
DEPARTMENT OF TRANSPORTATION This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications for Roads and Structures 2024. Reviewed by NCDOT But Date 17 21
DEPARTMENT OF TRANSPORTATION This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications for Roads and Structures 2024. Reviewed by NCDOT But Date 17 21

T-1

ITEMIZED PROPOSAL FOR CONTRACT NO. D3POC0239

North Carolina Department of Transportation PURCHASE ORDER CONTRACT BID FORM

WBS Number: 3RE.107115, 3RE.207115 & 3RE.207125 Long-Arm Mowing along Primary & Secondary Paved Routes and Secondary Unpaved Routes in Pender County

ITEM	DESC	SECT	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0000100000-N	800	MOBILIZATION	1	LS	\$500.00	\$500.00
2	6132000000-N	SP	GPS OUTFITTING FEE	3	EA	\$100.00	\$300.00
3	6132000000-N	SP	GPS SUBSCRIPTION FEE	3	EA	\$100.00	\$300.00
4	6136000000-Е	SP	LONG-ARM MOWING, PRIMARY ROUTES	142.97	SMI	\$204.00	\$29,165.98
5	6136000000-Е	SP	LONG-ARM MOWING, SECONDARY ROUTES, (PAVED)	368.67	SMI	\$204.00	\$75,208.68
6	6136000000-Е	SP	LONG-ARM MOWING, SECONDARY ROUTES, (UNPAVED)	5	SMI	\$204.00	\$1,020.00 v

TOTAL BID FOR PROJECT: \$106,494.66 \$106,494,56

CONTRACTOR JMC Clearing & Mulching LLC		
ADDRESS_4959 Harrison Phelps Rd. La Grange, NC 28551		
Federal Identification Number 85-1829790		
Contractor's License Number 119583		
Authorized Agent Jaime Moore Signature Date 7-14-2025 Witness Title Member-Owner Date 7-14-2025	CORPORATE SEAL	
Signature Xannon Date 7-14-2025		

Point of Contact for Post-Bid Inquires (e.g., Letters of Intent, Insurance, Bonds, and Contract Execution)

Name_Jaime Moore	
Email_jaimeharrisonmoore@gmail.com	
Phone 252-559-9960	

THIS SECTION TO BE COMPLETED BY NORTH CAROLINA DEPARTMENT OF TRANSPORTATION

This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications for Roads and Structures 2024.

Accepted by NCDOT Date 1/1/25

Accepted by NCDOT Date 1/1/2028